ED-104

M.Com. 1st Semester
Examination, March-April 2021

Paper - IV

Statistical Analysis

Time : Three Hours] [Maximum Marks : 80
[Minimum Pass Marks : 16
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Note : Answer all questions. All questions carry equal
marks.
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This is an age of statistics, there is no

problem in government, business or industry
which cannot be better tackled with the help

of statistics. Discuss the above statement fully.
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What are the different parts of a schedule ?
What points are to be considered while
preparing a schedule ? Explain different types
of schedule and their utilities.
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What do you mean by Primary and Secondary
data ? Explain the various methods of
collecting secondary data and discuss the
precautions to be taken while using secondary
data.
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(3)

Draft a questionnaire containing 18 questions
for the study of economic conditions and
habits of students of your college hostel.
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A ferd
5-9 1
10 — 14 3
15-19 8
20— 24 5
25— 29 4
30 — 34 2
35 -39 2

From the following data find Karl Pearson’s
coefficient of skewness :

Age Person

5-9
10-14
15-19
20-24
25-29

30-34
35 -39
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(4)
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Tar 99 | ™ (3 '000 H)
11 7
7 5
9 3
5 2
8 6
6 4
10 8
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Following data refer to years of service in a
factory of seven person in a specialized field
and to their monthly income :

Years of service | Income (in ¥ *000)
11 7
7 5
9 3
5 2
8 6
6 4
10 8
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(3)

Find the regression equation of income on
years of service. Using it what initial start
would you recommend for a person applying
for a job after having served in another
factory in a similar field for 12 years.
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Seven dices are thrown simultaneously. Find :

(a) The probability of getting one four times

(b) The probability of getting one at least
three times

(c¢) Probability of getting three on four dices
at least
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(6)

How many five members committee can be
formed from six male student and five female
students ? If committee consists of:

(a) at least two male students
(b) at least three female students
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76

104
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112

64
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(7)

A set of eight coins is tossed five hundred
twelve times and the number of heads
appearing in each toss is recorded. The results
obtained are given in the following table.
Estimate the mean number of heads and then
calculate the expected frequencies using this
estimate if the binomial law holds :

No. of Heads No. of Tossess
0 4

12

76

104

118

112

64

20
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0 3R 18 & w9 &% = 0.34134 q

0 3R 158 & = &A% = 0.43319
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(8)

The mean height of the 1000 workers in a
Steel Plant 1s 67 inch with a standard
deviation of 8, 5 inch. How many workers
are expected to be above 72 inch in that
plant ?

Given the area under one side of the normal
corve

for 19 is 0.34134 and
for 1.59 is 0.43319.
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